W2 wse ragh c:‘{" GQ ‘Cpe/{,n'{‘lcif l0/7 u-)['\ffl A 's ‘ /\(-J w
SO""\C \/cL/‘\nJ) 'S o ‘QMCJ(W\@” O'F-‘ ‘Hﬂq Sr B,M/ Uq - \916(

Ex(‘) Powcu/ C_J'\ﬂu/\ R«lc

o nel
(b( : nan . é«; — N I-{- 1< anfQj 'é'Lq+ W S"\
—_— ‘CCV\ o’p)(

@ I”‘ ﬁ@\&t’al 7 w.(( '(f\{ o d¥eredite th ‘nss ( be

S5 YNGR PIS

f
iC(eA/{Y ot o ke o s

’57 Tmpliit Dfecdicfio

Bl Fid ek \Ex

e Y& x V2 or ezl
§%acl;g. ﬁﬁwf | wehave Ay | dy - |
< des | d\%/- <
W% Chalnryle an N 2)() 7()( 2&
2y-y=1 L /N
N
=50 - The only solutions ore 9 Wen h_x/

:’;@) X - qxy = O Take detuddives o botha sides wnt .
C{&ur \[c-; M+&..‘¢CM.O’CX 3K2+ ZY?' \/ ‘_, q[y+ X'Y 1) . O

A 77
S

'FOW C/‘[Am\'\ /M(Q l’)"a&hﬁ*‘ /'VL[C




Ex(4): Find #he glepe oA xR st (3-9)

/X 4—2\| \{l O
t\lakwl(‘c a‘(' (‘5 -4) = 2(3)4—2( Y)- \/ O

--6.3
\/'*g -q‘

% mﬁﬂwa‘) Lor Imp/ucff— DQCU@.J d-fon

) Dt bothsdes of 4 65
wi+h f@spg(:(‘ fo X, +redk ) YV asa A LHerent\fle

-pm G‘P X .
(23 Go et He te, ms and s’a{ve—st Cj_i

{pcm-\/k gb u:r:j ‘Cbr a;(\[ (S @ q[meF \
|th&:gbet"ﬁl)t Déu ouns un+ { H-L‘H‘I 12 /

B Bd 6 235%8

lst o\w\wchuz'- éxz,_ éY'\/': O

ZPAOIC/\@‘{‘N_{_- o - 6(\/(+ \/'Y”):‘O
i Z

ay - by —|2x
\/ dx \/ .



3,%,’ Def}\f;l;\/es_.q‘p I}_’\veﬁsg ):c_f_/:s

{ HOUJ are 'H’““ é,wjen% /:MS'P
) b curscPradndasCa?
Pll)z lim €00 £6) _ (G-}

hoo  h o
(o €1 6«11) -8) o)
(—P [{) hoo A?o M—A .

EX(IY Le‘é —C(x): —’-x+/, ﬁ ng Cart &s-'/y éa(uz ‘éo JQ—Q

—(‘ (3( = U~ ].
2 T}LQY are Vg pf'OCcL( /,
w

So 0L and ()

i‘;;rﬂg TL«Z o\(‘bve: L\DMS N ge% w)\ay\ -@@l:é
— (Je have %‘% (p [6 ()

|
e C’( )/ B ‘F'@J{b)) {)Y Cqu‘n /?(6 and He Lot
St Ll =

:75_(_2_) Le{ Q(x): le x 20 . »?J(X):J; _ and -(\/(X)” x

r )= A —_;_,’_,._—
Cleacly (€116 TR TR



Nobon! Lo Lo alaly bowe seer )= L

L&Sc}uak‘Hn‘S. \/:[m( -Hha“ Hs /nverse s %:ex_ad
Se %;_’__, |

d _ x
o=

ar—— -

%((I\x) . e(ﬂX B ';(- as Seen ée:Cofe'

( L’x)).

(nlex) = () where u=kr
50 A“g((n(kx)) = -}—- k; ,L

Kx X .

_[:L:LC_?) Let K be a ¢ansdart. e | C}uq’?((“
us'\r\ﬁ 'H‘Q C..llﬁ_l\r’\ Vq(e

EA4) e e chuin nde & Oind A/ )
Kx il

e = @Lk u)Lef‘e (S kX

Se A‘"Ci (ekx): ekx- /<?- /(QKX (YO‘« Can alss see ths w-“”‘\.

. / Annoy.‘v use e‘P in (‘M(_e’ .

\ K?auer CI’"\'\a /‘u‘é o
F(3). Let C6)=x* Fud £6).
X-Cr\ { X-{nx

'Q(X)‘—)(%‘: € X_ % W/ﬁ& A(ﬁo & { :—'eu wW€’ u“»k'(ﬂX.

/ _ Anx An
So £0)= &7 dn 2Ny e X enrl).

E8): Let o be a consha. Fond ().

A/ x| b
a(a\:%(é )36(” 'fé(&qwx):(!’\a'dkxo

;'\VVSE 'pm /u.(e.




